
1524 - Hay Shed

GENERAL NOTES
G1. THESE DRAWINGS SHALL BE READ IN CONJUNCTION WITH ALL ARCHITECTURAL 
      AND OTHER CONSULTANTS' DRAWINGS & SPECIFICATIONS AND WITH SUCH
      OTHER WRITTEN INSTRUCTIONS AS MAY BE ISSUED DURING THE CONTRACT.
      ANY DISCREPANCY SHALL BE REFERRED TO TECHSPAN BUILDING SYSTEMS
      BEFORE PROCEEDING TO THE WORK. 

G2. DO NOT COMMENCE CONSTRUCTION USING THESE DRAWINGS UNLESS THEY 
      ARE "ISSUED FOR CONSTRUCTION".

G3. ALL MATERIALS AND WORKMANSHIP SHALL BE IN ACCORDANCE WITH THE 
      RELEVANT CURRENT STANDARDS AUSTRALIA CODES AND WITH THE NATIONAL
      CONSTRUCTION CODE.

G4. UNLESS NOTED OTHERWISE ALL LEVELS ARE IN METRES AND ALL DIMENSIONS 
      ARE IN MILLIMETRES.

G5. THE METHOD OF CONSTRUCTION AND THE MAINTENANCE OF SAFETY
      DURING CONSTRUCTION ARE THE RESPONSIBILITY OF THE ERECTOR.
      IF ANY STRUCTURAL ELEMENT PRESENTS DIFFICULTY IN RESPECT OF
      CONSTRUCTABILITY OR SAFETY, THE MATTER SHALL BE REFERRED TO THE
      STRUCTURAL ENGINEER FOR RESOLUTION BEFORE PROCEEDING WITH THE
      WORK.

G6. DURING CONSTRUCTION, THE STRUCTURE SHALL BE MAINTAINED IN A STABLE
      CONDITION AND NO PART SHALL BE OVERLOADED. PERMANENT BRACING TO
      BE INSTALLED AS ERECTION PROGRESSES. THE ERECTOR SHALL PROVIDE 
      TEMPORARY BRACING AND PROPPING WHEN REQUIRED IN ORDER TO KEEP
      THE BUILDING WORKS STABLE AT ALL TIMES. THE ERECTOR IS RESPONSIBLE TO
      ENGAGE A CERTIFIED ENGINEER TO APPROVE ANY TEMPORARY BRACING
      WORKS IF REQUIRED.

G7. ALL WIRE ROPE BRACING WITH SUPPLIED TURNBUCKLES TO HAVE AT LEAST  
      100MM ADJUSTMENT AFTER INITIAL INSTALLATION TO ALLOW FOR FUTURE 
      ADJUSTMENTS.

CONCRETE (CONT'D)
C3. CONCRETE PROFILES

*C3.1 SIZES OF CONCRETE ELEMENTS DO NOT INCLUDE THICKNESS
          OF APPLIED FINISHES

*C3.3 CANTILEVERS - PROVIDE UPWARD CAMBER IN FRAMEWORK
          FOR REINFORCED CONCRETE CANTILEVERS OF L/120. WHERE L IS THE
          PROJECTION BEYOND THE COLUMN OR WALL FACE. MAINTAIN THE
          SLAB AND EDGEBEAM DEPTHS SHOWN.

*C3.2 NO HOLES, CHASES, OR EMBEDMENT OF PIPES OTHER THAN
          SHOWN ON THE STRUCTURAL DRAWINGS SHALL BE MADE IN
          CONCRETE MEMBERS WITHOUT THE PRIOR WRITTEN APPROVAL OF
          THE ENGINEER.

*C3.4 PROVIDE DRIP GROOVES AT ALL EXPOSED EDGES.
          CHAMFERS, DRIP GROOVES, REGLETS, ETC TO BE ARCHITECT'S
          DETAILS. MAINTAIN COVER TO REINFORCEMENT AT THESE DETAILS.

*C3.5 CONSTRUCTION JOINTS NOT SHOWN ON THE STRUCTURAL
          DRAWINGS SHALL BE TO THE WRITTEN APPROVAL OF THE
          STRUCTURAL ENGINEER.

*C3.6 CONDUITS, PIPES, ETC SHALL ONLY BE LOCATED IN THE MIDDLE
          ONE THIRD OF SLAB DEPTH AND SPACED AT NOT LESS THAN 3
          DIAMETERS. DO NOT PLACE PIPES OR CONDUITS WITHIN THE COVER
          TO THE REINFORCEMENT.

C4. COVER TO REINFORCEMENT

CONDITION
MINIMUM
  COVER

(UNO)
SURFACES IN CONTACT
WITH GROUND

40 mm

30 mm

WITHOUT MEMBRANE:
WITH MEMBRANE:

- SLABS
- FOOTINGS 50 mm

SURFACES ABOVE GROUND
- EXPOSED 40 mm

C5. THE FINISHED CONCRETE SHALL BE A DENSE HOMOGENEOUS MASS,
       COMPLETELY FILLING THE FRAMEWORK, THOROUGHLY EMBEDDING
       THE REINFORCEMENT AND FREE OF STONE POCKETS. COMPACT ALL
       CONCRETE WITH MECHANICAL VIBRATORS, INCLUDING FOOTINGS
       AND SLABS ON GROUND.

C6. CURING OF CONCRETE
- ALL CONCRETE IS TO BE CURED BY AN APPROVED METHOD FOR A
  MINIMUM OF 7 DAYS 
- ALLOW 14 DAYS CURING BEFORE ERECTION OF THE STEELWORK

CURING COMPOUNDS MAY BE USED, PROVIDED THAT THEY COMPLY
WITH AS3799, AND DO NOT AFFECT FLOOR FINISHES. PVA BASED
CURING COMPOUNDS ARE NOT ACCEPTABLE.

C7. SLIP JOINTS TO BE USED ON ALL LOAD-BEARING MASONRY WALLS,
       USE 2 LAYERS OF GALVANISED FLAT STEEL WITH GRAPHITE GREASE
       BETWEEN.
C8. SLAB REINFORCEMENT AT SUPPORTING WALLS SLAB BARS SHALL
       EXTEND 70mm ONTO SUPPORTING WALLS, WITH 50% OF BOTTOM
       BARS COGGED TO ACHIEVE ANCHORAGE AT SIMPLY SUPPORTED 
       ENDS. MESH IN SLABS SHALL EXTEND 70mm ONTO SUPPORTING
       WALLS WITH A CROSS WIRE.

C9. MESH LAPPED SPLICES LAPS IN MESH (FABRIC) SHALL COMPLY WITH
      AS3600-2018. THE TWO OUTERMOST TRANSVERSE WIRES OF ONE
      SHEET SHALL OVERLAP THE TWO OUTERMOST TRANSVERSE WIRES OF
      THE SHEET BEING LAPPED.

SITE PREPARATION NOTES
E1. THE FOUNDATION MATERIAL MUST HAVE A SAFE BEARING PRESSURE OF
       NOT LESS THAN 150 KPA, FOUNDED ON NATURAL GROUND (UNO) FOR
       BORED PIERS

E2. TOP SOIL CONTAINING VEGETATION AND ROOTS MUST BE STRIPPED FROM
      THE SITE BEFORE EXCAVATION OF FOOTINGS OR FILL REPLACEMENT.

E3. SITE IS TO BE PROOF ROLLED PRIOR TO PLACEMENT TO FILL.

E4. FILL ON SITE MUST BE CLEAN AND COMPACTED TO NOT LESS THAN 98% MIN. 
      DRY DENSITY AS DETERMINED BY AS1289.0-2000.

E5. ALL FILL TO BE COMPACTED DOWN IN MAXIMUM 150mm LAYERS. 

E6. INSITU DENSITY TESTING IN ACCORDANCE WITH AS1289.0-2000 TO BE
      CARRIED OUT AT A FREQUENCY OF 1 TEST PER 400sqm. ON EVERY SECOND
      LAYER.

CONCRETE
C1. ALL WORKMANSHIP AND MATERIALS SHALL COMPLY WITH AS3600-2018 
      EXCEPT WHERE VARIED BY THE DOCUMENTS.
C2. CONCRETE QUALITY

*C2.1 ALL CONCRETE SHALL COMPLY WITH AS1379
*C2.2 NO BRECCIA TYPE AGGREGATE IS TO BE USED
*C2.3 COMPRESSIVE STRENGTH GRADES

ELEMENT
STRENGTH

   GRADE
(N)

CEMENT
TYPE TO
AS3972

FOOTING & PIERS
SLABS ON GROUND

SLUMP
(mm)

MAXIMUM
AGGREGATE

SIZE (mm)
25
32

A
SL

80
80

20
20

STRUCTURAL DESIGN DATA

L1. THE STRUCTURAL COMPONENTS DETAILED ON THESE STRUCTURAL
      DRAWINGS HAVE BEEN DESIGNED IN ACCORDANCEWITH THE RELEVANT
      STANDARDS AUSTRALIA CODES AND THE BUILDING CODE OF AUSTRALIA 
      FOR THE FOLLOWING LOADINGS.

L2. SUPERIMPOSED LOADS

L3. WIND LOADS IN ACCORDANCE WITH AS1170.2

FLOOR USAGE LIVE LOAD
(kPa)

SUPERIMPOSED
    DEAD LOAD

(kPa)

ROOF
MEZ. FLOOR
SLAB

BASIC WIND SPEED V =

REGION

TERRAIN CATEGORY

STRUCTURAL IMPORTANCE
LEVEL

41 m/s

A

2.5

1

L4. EARTHQUAKE DESIGN PARAMETERS TO AS1170.4

STRUCTURAL IMPORTANCE
LEVEL AS DEFINED IN

BCA PART B1 1

PROBABILITY FACTOR kp
HAZARD FACTOR Z
SITE SUB-SOIL CLASS
EARTHQUAKE DESIGN CATEGORY

0.25 0.2
-
-

-
-

L5. DESIGN AND ENGINEERING SCOPE

STRUCTURAL STEEL
SLAB
FOOTINGS
PANELS

BY TECHSPAN
NA
BY TECHSPAN
NA

TECHSPAN DESIGN SCOPE

THESE NOTES AND SPECIFICATIONS DO NOT APPLY WHEN THE
DESIGN IS "BY OTHERS" EVEN WHEN REPRESENTATIONS MAY BE
MADE IN THESE DRAWINGS.

DESIGN WIND SPEED

N
S
E
W

37 m/s
37 m/s
37 m/s
37 m/s

©
 T

hi
s D

ra
w

in
g 

is
 th

e 
pr

op
er

ty
 o

f T
ec

hs
pa

n 
B

ui
ld

in
g 

Sy
st

em
s. 

T
hi

s d
ra

w
in

g 
an

d 
an

y 
as

so
ci

at
ed

  d
ra

w
in

gs
 m

us
t n

ot
 b

e 
m

an
uf

ac
tu

re
d 

fr
om

, c
op

ie
d 

or
 tr

an
sm

itt
ed

 to
 a

 th
ir

d 
pa

rt
y 

w
ith

ou
t w

ri
tt

en
 p

er
m

is
si

on
 fr

om
 T

ec
hs

pa
n 

B
ui

ld
in

g 
Sy

st
em

s.

Project No:Client:
Scale for

Page Size

Drawing No.
1524

G01
A1

87 Seaton Street
Armidale NSW 2350

Ph 02 6771 1300
Fax 02 6772 0405

www.techspanbuilding.com.au
sales@techspanbuilding.com.au

G01 Project:
Dave Adams

Hay Shed
Overall 3D View

313 Gostwyck Road, Uralla NSW 2358
Dave Adams

STEEL WORK
S1. ALL WORKMANSHIP AND MATERIALS SHALL BE IN ACCORDANCE WITH 
      AS4100 EXCEPT WHEN VARIED BY THE CONTRACT DOCUMENTS. 

- FABRICATION SHALL BE CARRIED OUT IN ACCORDANCE WITH
            SECTION 14 OF AS4100.

- ERECTION SHALL BE CARRIED OUT IN ACCORDANCE WITH SECTION
            15 OF AS4100.

S2. UNLESS NOTED OTHERWISE ALL STEEL SHALL BE OF THE FOLLOWING
      GRADE IN ACCORDANCE WITH THE FOLLOWING AUSTRALIAN
      STANDARDS.

S3. WELDING
      ALL WELDING SHALL COMPLY WITH AS1554.1 
      FILLET WELDS SHALL BE GP 6mm CFW, UNO 
      BUTT WELDS SHALL BE COMPLETE PENETRATION BUTT WELDS 
      WHERE WELDS ARE NOT OTHERWISE SPECIFIED THEY ARE TO ACHIEVE 
      THE FULL STRENGTH OF THE MEMBERS JOINED.
      WEB STIFFENERS TO BE FULLY WELDED ON FLANGES AND WELDED
      HALF-WAY ON EITHER AND OPPOSITE SIDE OF WEBS U.N.O

S4. BOLTS SHALL BE M20 UNLESS NOTED OTHERWISE.
      BOLTS SHALL BE 8.8/S UNLESS NOTED OTHERWISE.
      ALL BOLTS, NUTS AND WASHERS SHALL BE GALVANISED TO
      AS1214. COLUMN HOLDING DOWN BOLTS, CAST IN PLACE, SHALL BE
      4.6/S UNLESS NOTED OTHERWISE.

EMBEDED IN
CONCRETE COG CONCRETE EDGE

DISTANCE MINIMUM

50

75

100

S5. BOLTS DENOTED 4.6/S ARE COMMERCIAL BOLTS OF STRENGTH
      GRADE 4.6 TO AS1111, SNUG-TIGHT.

S6. BOLTS DENOTED 8.8/S, 8.8/TF AND 8.8/TB ARE HIGH STRENGTH
      STRUCTURAL BOLTS OF STRENGTH GRADE 8.8 TO AS 1252.

* 8.8/S DENOTED BOLTS SNUG-TIGHT
* 8.8/TF AND 8.8/TB DENOTES BOLTS FULLY TENSIONED TO AS 4100
* 8.8/TF DENOTES FRICTION JOINT
* 8.8/TB DENOTES BEARING JOINT

M24 4.6/S

M20 4.6/S

M16 4.6/S

COLUMN HD BOLT

400

300

250

260

200

160

TYPE OF STEEL

UNIVERSAL BEAMS & COLUMNS,
PARRALLEL FLANGE CHANNELS 

LARGE ANGLES
WELDED SECTIONS

HOT MILLED PLATES, FLATS,
FLOOR PLATES, SMALL ANGLES

AND SLABS

HOLLOW SECTIONS - SQUARE &
RECTANGULAR

CIRCULAR HOLLOW SECTIONS

COLD FORMED PURLIN
AND GIRTS AS 1397

AS 1163

AS 1163

AS/NZS 3678

AS/NZS 3679.2

AS/NZS 3679.1

AUSTRALIA
STANDARD GRADE

300

300

250

C350 OR C450
ACCORDING TO

SECTION
DESIGNATION

C350 OR C450
ACCORDING TO

SECTION
DESIGNATION

G450
Z350

STEEL WORK (CONT'D)

S8.2 CONNECTIONS TO TILT UP CONCRETE WALL PANELS FOR CONNECTIONS
        TO CAST IN FERRULES IN TILT UP WALL PANELS, BOLTS HOLES SHALL 
        BE 6MM OVERSIZE WIDE X LONG SLOTTED HOLES U.N.O.
        WASHER TO COMPLETELY COVER SLOTTED HOLE AND BE MIN 8MM PLATE.

BOLT HOLE SIZE

26 WIDE x 50 mm

WASHER - TO COMPLETELY COVER
SLOTTED HOLE

75 x 75 x 8mm PLATE WASHERM20 8.8/S

S8.3 ALL CONNECTIONS WHERE A SLOTTED HOLE IS USED IN STEEL-TO-STEEL 
        CONNECTIONS SHALL HAVE A WASHER ON THE SLOTTED HOLE SIDE.

S9. ALL PLATES AND STIFFENERS SHALL BE 8MM THICK UNO.
      CAP AND SEALING PLATES SHALL BE 5MM U.N.O.

S10. DRILLED-IN ANCHORS - TO BE FITTED AS PER MANUFACTURERS
        RECOMMENDATIONS AND ENGINEER’S REQUIREMENTS WHERE NOTED.

S11. PROVIDE ALL NECESSARY PURLIN, GIRT AND TRIMMING ELEMENTS AS 
        REQUIRED TO SUPPORT ALL ROOF AND WALL SHEETING/CLADDING 
        EDGES, VALLEYS, HIPS AND PENETRATIONS.

S12. PURLINS AND GIRTS USE FLANGED BOLTS OR WASHERS. 
        PURLIN BOLTS SHALL BE:

* M12 4.6/S FOR SECTIONS UP TO AND INCLUDING 250 DEEP UNO
* M16 4.6/S FOR SECTIONS OVER 250 DEEP UNO

S13. MIN STANDARDS FOR SURFACE TREATMENT ON BLACK STEEL SHALL 
        BE CLASS 2.5 BLAST WITH 75UM ZINC PHOSPHATE PRIMER. REFER 
        TO ARCHITECTURAL SPECIFICATIONS FOR EXTRA FINISH COATS 
        AND COLOURS. ALL COATINGS TO BE COMPATIBLE WITH APPLIED 
        FINISHES INCLUDING TOPCOAT AND ANY FIRE PROTECTION COATING. 
        PAINT REPAIR SHALL BE CONDUCTED TO GIVE SAME LEVEL OF 
        PROTECTION AS THE ORIGINAL TREATMENT. ALL PAINT AND REPAIRS 
        SHALL COMPLY WITH ANY SPECIFIED WARRANTY.

S14. BASE PLATES SHALL BE GROUTED. GROUT SHALL HAVE MINIMUM 
        STRENGTH f'c OF 20 MPa USING AN APPROVED NON-SHRINK GROUT.

S7. LOAD INDICATOR WASHERS SHALL BE USED ON THE BOLT HEAD FOR 
      ALL 8.8/TF AND 8.8/TB BOLTS. PROVIDE A 75mm COLOUR FLASH AT 
      THESE CONNECTIONS.

S8. BOLT HOLES AND WASHERS - TYPICAL FOR UP TO M24 (UNO ON DRAWINGS)

S8.1 TYPICAL CONNECTIONS

CONNECTION
TYPE

STEEL TO
STEEL

STEEL TO
CONCRETE

COLUMN
BASEPLATES

BOLT HOLES SHALL BE : 
SIZE = BOLT DIAMETER +

2 mm

4 mm

6 mm

BOLT 
TYPE

WASHERS

4.6/S

8.8/S

8.8/TF

8.8/TB

M20
4.6/S
M24
4.6/S

WASHERS - HD
GALVANISED TO AS1214
TO AS1111 (37 OD X 3mm
THICK FOR M20)
TO AS1252 (39 OD X 4mm
NOMINAL THICK FOR M20)
TO AS1252 (39 OD X 4mm
NOMINAL THICK FOR M20)
PLUS LOAD INDICATOR
WASHERS UNDER BOLT HEAD

MINIMUM 4mm THICK
PLATE WASHER
TO AS1111 (37 OD X 3mm
THICK FOR M20)

TO AS1111 (43 OD X 4mm
THICK FOR M24)

8

1

2

3

4

5

6

7

A

B

C

TITLE
DRAWING

DRAWINGS REGISTER
DRAWING INFORMATION REVISION INFORMATION

EN01

DRAWING DESCRIPTION

Engineering

DISCIPLINE MARK
REV

0

REV DESCRIPTION

Issued For Construction

REV DATE

24/06/2024

Registered Professional Engineer 
Graeme C Moulston 

FIE Aust CPEng 5590, 
CPEng, NER, APEC Engineer, IntPE(Aus). 

25JUN2024 
Signed ………………………………………….………………… 

RPEQ4431 (QLD), PRE0002133 (NSW, WA, SA),  
24748ES (NT), PE0001476 (VIC). 

STRUCTURAL DETAILS CONCURRED 



THIS DRAWING IS NOT TO BE USED FOR SETOUT

Project No:Client:
Scale for

Page Size

Drawing No.
1524

EN01
A1

87 Seaton Street
Armidale NSW 2350

Ph 02 6771 1300
Fax 02 6772 0405

www.techspanbuilding.com.au
sales@techspanbuilding.com.au

EN01 Project:
Dave Adams

Hay Shed
Engineering

©
 T

hi
s D

ra
w

in
g 

is
 th

e 
pr

op
er

ty
 o

f T
ec

hs
pa

n 
B

ui
ld

in
g 

Sy
st

em
s. 

T
hi

s d
ra

w
in

g 
an

d 
an

y 
as

so
ci

at
ed

  d
ra

w
in

gs
 m

us
t n

ot
 b

e 
m

an
uf

ac
tu

re
d 

fr
om

, c
op

ie
d 

or
 tr

an
sm

itt
ed

 to
 a

 th
ir

d 
pa

rt
y 

w
ith

ou
t w

ri
tt

en
 p

er
m

is
si

on
 fr

om
 T

ec
hs

pa
n 

B
ui

ld
in

g 
Sy

st
em

s.

Description:Drawn By:Rev: Date:

0 Issued For Construction 24.06.2024RO

A Issued For Review 20.06.2024MMC

PLAN VIEW

SECTION VIEW DETAIL- 1
TYP. FOOTING DETAIL

DETAIL- 2
TYP. HAUNCH DETAIL

DETAIL- 3
TYP. TRUSS SPICE DETAIL

DETAIL- 4
TYP. TRUSS APEX DETAIL

A - A
TYP. TRUSS DETAIL

3

C

1

B

84 62 5 7

A

EL+0

ABC

EL+6750

O
/A

 C
ol

um
ns

Max. Spacing

D
ep

th
G

ro
ut

Diameter

Pr
oj

'n

H
D

 B
ol

t L
en

gt
h

Em
be

dm
en

t

Ba
se

pl
at

e

D
eep

Lap

D
ee

p

Typ. Roof Brace
Wire Rope Brace
D12

8000

Typ. Roof Purlin
LYS-Z20015
Lapped 15% 
w/ 1 Row Bridging

8000

36
00

0

Typ. Fascia Purlin
LYS-C20015

Typ. Flybrace
CA50*50*2.5

Typ. Wall Brace
Wire Rope Brace
D12

8000

17
77

3
17

77
3

8000800080008000

35
54

6 
- O

/A
 G

rid
lin

es

56000 - O/A Gridlines

A

A

DETAIL 3

67
50

DETAIL 1

DETAIL 2

DETAIL 4

Typ. Column
UB460*67

Typ. Flybrace
CA50*50*2.5

1464

30

21
00

30

750

10
0

M20 Anchor Rod

PLT20*200 x 460

20
00

19
00

20

Stiffener
PLT8*86 x 428

4 x M20 8.8S Bolts

4 x M20 8.8S Bolts

PLT20*180 x 290

PLT20*180 x 220

1200

PLT20*180 x 220

PLT20*180 x 220

4 x M20 8.8S Bolts

4 x M20 8.8S Bolts

Stiffener
PLT10*54 x 95

Stiffener
PLT10*49 x 113

PLT20*180 x 220

PLT20*180 x 220
4 x M20 8.8S Bolts

4 x M20 8.8S Bolts

1130

Truss Chord
RHS125*75*3.0

Typ
. F

lyb
rac

e

CA50
*50

*2.
5

First 4 Webs From Haunch
SHS75*50*2.0
Remaining Webs
SHS50*50*2.0

Truss Chord
RHS125*75*3.0

PLT8*50 x 75

1200

12
00

1 x PB1230

1 x PB1230

30
0 

Fo
ld

 B
ac

k

Wire Rope Clip

Typ. Wire Rope Details

30
0 

Fo
ld

 B
ac

k

Turnbuckle

Both Ends
3x Wire Rope Grip

CFW to the Chord
5mm Backing plate

Connection Details
Typ. Wire Rope 

Wire Rope Brace

M20_Bolt
M20_Nut

Registered Professional Engineer 
Graeme C Moulston 

FIE Aust CPEng 5590, 
CPEng, NER, APEC Engineer, IntPE(Aus). 

25JUN2024 
Signed ………………………………………….………………… 

RPEQ4431 (QLD), PRE0002133 (NSW, WA, SA),  
24748ES (NT), PE0001476 (VIC). 

STRUCTURAL DETAILS CONCURRED 

Charles Thorncroft
Dimension
9200 Ridge Height

Charles Thorncroft
Length Measurement
9,172.08 mm




